
ON THE DEGENERATE LAPLACE TRANSFORM - III

Lalit Mohan Upadhyaya *

Abstract

2010 AMS Mathematics
Subject Classification:
Primary: 44A10, 44A45
Secondary: 33B10, 33B15,
33B99, 34A25.

Keywords:

Degenerate Laplace
transform; degenerate
Laplace transform of the
degenerate Laplace
transform of a function,
degenerate sine integral,
degenerate cosine
integral.

Proceeding ahead in our earlier studies [31, 32] which are in progression of the very recent study of Kim and Kim [30], in this report we give an expression for the degenerate Laplace transform of the degenerate Laplace transform of a function and also define the degenerate sine integral function and the degenerate cosine integral function and obtain the expressions for the degenerate Laplace transforms of these two functions.

Copyright © 2018 International Journals of
Multidisciplinary Research Academy. All rights reserved.

Author correspondence:

Lalit Mohan Upadhyaya,
Department of Mathematics,
Municipal Post Graduate College, Mussoorie,
Dehradun, Uttarakhand, India -248179
Email: lmupadhyaya@rediffmail.com

1. Introduction

Owing to the very deep applications of the classical Laplace transform in engineering problems, many researchers have focused their attention to the studies of this integral transform. Many generalizations of the classical Laplace transforms are available in the literature. The most recent of such generalizations is the very fruitful concept of the *degenerate Laplace transform* introduced by Kim and Kim in their novel work [30]. A number of problems in applied mathematics, physics, electrical and electronics engineering often depend upon the solutions of differential equations which are usually solved in these fields by the applications of the classical Laplace transform. The solutions of such differential equations in advanced and complex problems of engineering, physics and applied mathematics are often described in terms of a number of special functions of mathematics which often require the knowledge of the Laplace transforms of these special functions. Many authoritative and monumental works are written in mathematics

* Department of Mathematics, Municipal Post Graduate College, Mussoorie, Dehradun, Uttarakhand, India - 248179. Email: lmupadhyaya@rediffmail.com

which deal with the theory and applications of the numerous special functions of mathematics and the Laplace transforms of these functions, such as [1 - 12] besides numerous others. Motivated by the fact that the study of the classical Laplace transform and its many varied applications form a core part of the syllabi of mathematics courses of trainee engineers, physicists and mathematicians worldwide we propose to utilize the results of the very recent work of Kim and Kim [30] on the degenerate Laplace transforms to find the expressions for the degenerate Laplace transform of the degenerate Laplace transform of a function besides defining the *degenerate sine integral function* and the *degenerate cosine integral function* and obtain their degenerate Laplace transforms. We would like to mention that prior to giving the most recent concept of the degenerate Laplace transform [30], T .Kim and his fellow research collaborators D.V. Dolgy, J.J. Seo, L.C. Jang, H.-I. Kwon and D.S. Kim have made numerous studies on the degenerate polynomials and the degenerate numbers [22-29]. Prior to them, Carlitz [13, 14] also studied the degenerate analogues of numbers and functions. Mathai [21] has done a commendable work by using the Laplace transform approach to study the special functions of matrix arguments with real symmetric positive definite matrices and the Hermitian positive definite matrices as arguments. Earlier this author has also given the generalizations of the Laplace type integrals of various multiple hypergeometric functions with real symmetric positive definite matrices as their arguments in his studies [for instance see, 16-19] and his doctoral dissertation [20] and many of his other previous studies which are mentioned in the references of his doctoral dissertation [20].

The scheme of the paper is as follows: we divide the paper in two sections, the first section details the necessary definitions and results which are used to derive the main results of this investigation in the second section of the paper. We begin to enumerate below the basic definitions and results. The Laplace transform of a function $f(t)$ of the variable t defined for $t > 0$, denoted by $\mathcal{L}\{f(t)\}$, is defined by the integral (see, for instance, [15, (1), p.1])

$$\mathcal{L}\{f(t)\} = F(s) = \int_0^{\infty} e^{-st} f(t) dt \quad (1.1)$$

if the integral in (1.1) converges for some value of the complex parameter s . For sufficient conditions for the existence of the Laplace transform of a function $f(t)$, the reader is referred to the Theorem 1-1, p.2 and the Problem 145, p.38 of [15].

Definition 1.1: The Degenerate Exponential Function - (Kim and Kim [30], (1.3), p. 241) – The degenerate exponential function, represented by e_{λ}^t , is a function of two variables λ and t , where, $\lambda \in (0, \infty)$, $t \in \mathbb{R}$ and is defined by

$$e_{\lambda}^t = \left(1 + \lambda t\right)^{\frac{1}{\lambda}} \quad (1.2)$$

We remark here that this definition generalizes the classical exponential function e^t defined by the well known series relation

$$e^t = \sum_{n=0}^{\infty} \frac{t^n}{n!} \quad (1.3)$$

because we can easily deduce from (1.2) that (see Kim and Kim [30], p.241)

$$\lim_{\lambda \rightarrow 0^+} e_{\lambda}^t = \lim_{\lambda \rightarrow 0^+} \left(1 + \lambda t\right)^{\frac{1}{\lambda}} = \sum_{n=0}^{\infty} \frac{t^n}{n!} = e^t \quad (1.4)$$

The well known Euler’s exponential formula is given by (see, for instance, (1.7) p.241 Kim and Kim [30])

$$e^{i\theta} = \cos \theta + i \sin \theta \tag{1.5}$$

where $i = \sqrt{-1}$. From (1.5) the definitions of the elementary trigonometric functions sine and cosine in terms of the exponential function as (see, for instance, (1.8) p.241 Kim and Kim[30]) immediately follow as

$$\cos a\theta = \frac{e^{ia\theta} + e^{-ia\theta}}{2}, \quad \sin a\theta = \frac{e^{ia\theta} - e^{-ia\theta}}{2i} \tag{1.6}$$

Definition 1.2: The Degenerate Euler Formula: The degenerate Euler formula is defined by the relation (see (1.9), p.242 Kim and Kim [30])

$$e_{\lambda}^{it} = (1 + \lambda t)^{\frac{i}{\lambda}} = \cos_{\lambda}(t) + i \sin_{\lambda}(t) \tag{1.7}$$

The limiting case of (1.7) easily leads to the conclusion that (see (1.10) p.242 Kim and Kim [30])

$$\lim_{\lambda \rightarrow 0^+} e_{\lambda}^{it} = \lim_{\lambda \rightarrow 0^+} (1 + \lambda t)^{\frac{i}{\lambda}} = e^{it} = \cos t + i \sin t \tag{1.8}$$

Further, from (1.7) and (1.8) one can arrive at the following deductions without any difficulty (see (1.11) p.242 Kim and Kim [30])

$$\lim_{\lambda \rightarrow 0^+} \cos_{\lambda}(t) = \cos t, \quad \lim_{\lambda \rightarrow 0^+} \sin_{\lambda}(t) = \sin t \tag{1.9}$$

Definition 1.3: The Degenerate Cosine and Degenerate Sine Functions: The following respective definitions of the degenerate cosine and degenerate sine functions follow from (1.7) (see (1.12), p.242 Kim and Kim[30])

$$\cos_{\lambda}(t) = \frac{e_{\lambda}^{it} + e_{\lambda}^{-it}}{2}, \quad \sin_{\lambda}(t) = \frac{e_{\lambda}^{it} - e_{\lambda}^{-it}}{2i} \tag{1.10}$$

Definition 1.4: The Degenerate Laplace Transform of a Function: (Kim and Kim [30], (3.1), p.244) Let $f(t)$ be a function defined for $t \geq 0$ and let $\lambda \in (0, \infty)$, then the degenerate Laplace transform of the function $f(t)$, represented by $F_{\lambda}(s)$, is defined by the integral

$$\mathcal{L}_{\lambda} \{ f(t) \} = F_{\lambda}(s) = \int_0^{\infty} (1 + \lambda t)^{\frac{-s}{\lambda}} f(t) dt \tag{1.11}$$

2. Results for The Degenerate Laplace Transforms of Some Functions

We embark upon our aim of this study now as set out in the abstract as well as in the first section of this paper above. First we deduce an expression for the degenerate Laplace transform of the degenerate Laplace transform of a function which we shall state in the form of a theorem and then define the degenerate sine integral and the degenerate cosine integral and find their degenerate Laplace transforms.

Theorem 2.1: The Degenerate Laplace Transform of the Degenerate Laplace Transform of a Function: Let $\mathcal{L}_{\lambda} \{ f(t) \} = F_{\lambda}(s)$ then we have

$$\begin{aligned} & \mathcal{L}_{\lambda} \{ \mathcal{L}_{\lambda} \{ f(t) \} \} \\ &= \frac{-1}{\lambda - u} \int_0^{\infty} f(t) dt + \frac{1}{\lambda(\lambda - u)} \int_0^{\infty} f(t) \log(1 + \lambda t) \left[\int_0^{\infty} (1 + \lambda t)^{\frac{-s}{\lambda}} (1 + \lambda s)^{\frac{\lambda - u}{\lambda}} ds \right] dt \tag{2.1} \end{aligned}$$

$$= \lambda \int_0^\infty \frac{f(t)}{\log(1+\lambda t)} dt - u\lambda \int_0^\infty \frac{f(t)}{\log(1+\lambda t)} \left[\int_0^\infty (1+\lambda t)^{\frac{-s}{\lambda}} (1+\lambda s)^{\frac{-(u+\lambda)}{\lambda}} ds \right] dt \quad (2.2)$$

where u is the parameter of the outer degenerate Laplace transform operator in the expression $\mathcal{L}_\lambda \{ \mathcal{L}_\lambda \{ f(t) \} \}$.

Proof: Applying the definition of the degenerate Laplace transform, i.e. (1.11) we observe that

$$\begin{aligned} \mathcal{L}_\lambda \{ \mathcal{L}_\lambda \{ f(t) \} \} &= \mathcal{L}_\lambda \left\{ \int_0^\infty (1+\lambda t)^{\frac{-s}{\lambda}} f(t) dt \right\} \\ &= \int_0^\infty (1+\lambda s)^{\frac{-u}{\lambda}} ds \left[\int_0^\infty (1+\lambda t)^{\frac{-s}{\lambda}} f(t) dt \right] \end{aligned} \quad (2.3)$$

It may be noted here that the area of integration in the double integral of (2.3) is the entire positive quadrant and both the variables s and t are independent therefore, on changing the order of integration we have

$$\mathcal{L}_\lambda \{ \mathcal{L}_\lambda \{ f(t) \} \} = \int_0^\infty f(t) dt \left[\int_0^\infty (1+\lambda s)^{\frac{-u}{\lambda}} (1+\lambda t)^{\frac{-s}{\lambda}} ds \right] \quad (2.4)$$

Let

$$I = \int_0^\infty (1+\lambda s)^{\frac{-u}{\lambda}} (1+\lambda t)^{\frac{-s}{\lambda}} ds \quad (2.5)$$

This integral can be evaluated by the application of integration by parts in two ways by taking the functions $(1+\lambda s)^{\frac{-u}{\lambda}}$ and $(1+\lambda t)^{\frac{-s}{\lambda}}$ successively as the first functions. When the function $(1+\lambda t)^{\frac{-s}{\lambda}}$ is taken as the first function, then the evaluation of (2.5) can be done as below:

$$\begin{aligned} I &= \int_0^\infty (1+\lambda t)^{\frac{-s}{\lambda}} (1+\lambda s)^{\frac{-u}{\lambda}} ds \\ &= \left[(1+\lambda t)^{\frac{-s}{\lambda}} \frac{(1+\lambda s)^{\frac{\lambda-u}{\lambda}}}{\lambda-u} \right]_{s=0}^\infty - \int_0^\infty (1+\lambda t)^{\frac{-s}{\lambda}} \log(1+\lambda t)^{\frac{-1}{\lambda}} \frac{(1+\lambda s)^{\frac{\lambda-u}{\lambda}}}{\lambda-u} ds \\ &= 0 - \frac{1}{\lambda-u} + \frac{1}{\lambda(\lambda-u)} \int_0^\infty (1+\lambda t)^{\frac{-s}{\lambda}} \log(1+\lambda t) (1+\lambda s)^{\frac{\lambda-u}{\lambda}} ds \end{aligned} \quad (2.6)$$

On the other hand when we take the function $(1+\lambda s)^{\frac{-u}{\lambda}}$ as the first function, the evaluation of (2.5) is as follows

$$\begin{aligned} I &= \int_0^\infty (1+\lambda s)^{\frac{-u}{\lambda}} (1+\lambda t)^{\frac{-s}{\lambda}} ds \\ &= \left[(1+\lambda s)^{\frac{-u}{\lambda}} \frac{(1+\lambda t)^{\frac{-s}{\lambda}}}{\log(1+\lambda t)^{\frac{-1}{\lambda}}} \right]_{s=0}^\infty + u \int_0^\infty \frac{(1+\lambda t)^{\frac{-s}{\lambda}}}{\log(1+\lambda t)^{\frac{-1}{\lambda}}} (1+\lambda s)^{\frac{-u-1}{\lambda}} ds \end{aligned}$$

Or,

$$I = \frac{\lambda}{\log(1+\lambda t)} - u\lambda \int_0^\infty \frac{(1+\lambda t)^{\frac{-s}{\lambda}}}{\log(1+\lambda t)} (1+\lambda s)^{\frac{-u-1}{\lambda}} ds \quad (2.7)$$

On substituting the value of I from (2.6) into (2.4), the result in (2.1) follows. Similarly, using the value of I from (2.7) in (2.4) produces the result of (2.2).

Definition 2.2: The Degenerate Sine Integral: We define the *degenerate sine integral* function by the integral

$$\text{Si}_\lambda(at) = \int_0^t \frac{\lambda \sin_\lambda(au)}{\log(1+\lambda u)} du \quad (2.8)$$

for any $a \in \mathbb{C}$. It can be seen that for $a=1$ and as $\lambda \rightarrow 0+$ in (2.8) then it reduces to the usual sine integral function (see, for instance, (8), Appendix C, p.255, [15]) given by

$$\text{Si}(t) = \int_0^t \frac{\sin u}{u} du \quad (2.9)$$

We now give in the theorem below an expression for the degenerate Laplace transform of the degenerate sine integral function:

Theorem 2.3: The Degenerate Laplace Transform of the Degenerate Sine Integral:

$$\mathcal{L}_\lambda \left\{ (1+\lambda t)^{-1} \text{Si}_\lambda(at) \right\} = \frac{1}{s} \tan^{-1} \left(\frac{a}{s-\lambda} \right) \quad (2.10)$$

Proof: Kim and Kim [30] have proved that (see (3.9), p.245 Kim and Kim [30])

$$\mathcal{L}_\lambda \left\{ \sin_\lambda(at) \right\} = \frac{a}{(s-\lambda)^2 + a^2} \quad (2.11)$$

We have proved in our previous study [32] (see Theorem (2.2), p.66 of [32]) the division theorem of the degenerate Laplace transform as below:

If $\mathcal{L}_\lambda \{f(t)\} = F_\lambda(s)$ then

$$\mathcal{L}_\lambda \left\{ \frac{\lambda f(t)}{\log(1+\lambda t)} \right\} = \int_s^\infty F_\lambda(s) ds \quad (2.12)$$

In (2.12) if we take $f(t) = \sin_\lambda(at)$ and use (2.11) we achieve

$$\begin{aligned} \mathcal{L}_\lambda \left\{ \frac{\lambda \sin_\lambda(at)}{\log(1+\lambda t)} \right\} &= \int_s^\infty \frac{a}{(s-\lambda)^2 + a^2} ds = \left[\tan^{-1} \left(\frac{s-\lambda}{a} \right) \right]_{s=s}^\infty \\ &= \frac{\pi}{2} - \tan^{-1} \left(\frac{s-\lambda}{a} \right) = \cot^{-1} \left(\frac{s-\lambda}{a} \right) \end{aligned}$$

Or,

$$\mathcal{L}_\lambda \left\{ \frac{\lambda \sin_\lambda(at)}{\log(1+\lambda t)} \right\} = \tan^{-1} \left(\frac{a}{s-\lambda} \right) \quad (2.13)$$

In our previous study [32] we have also given a result for the degenerate Laplace transform of an integral (see Theorem 2.1, p.66 in [32]) which states that:

If $\mathcal{L}_\lambda \{f(t)\} = F_\lambda(s)$ then

$$\mathcal{L}_\lambda \{f(t)\} = s \mathcal{L}_\lambda \left\{ (1+\lambda t)^{-1} \int_0^t f(u) du \right\} \quad (2.14)$$

In (2.14) if we choose $f(t) = \frac{\lambda \sin_\lambda(at)}{\log(1+\lambda t)}$ we obtain, with the help of (2.13),

$$\mathcal{L}_\lambda \left\{ (1 + \lambda t)^{-1} \int_0^t \frac{\lambda \sin_\lambda(au)}{\log(1 + \lambda u)} du \right\} = \frac{1}{s} \mathcal{L}_\lambda \left\{ \frac{\lambda \sin_\lambda(at)}{\log(1 + \lambda t)} \right\} = \frac{1}{s} \tan^{-1} \left(\frac{a}{s - \lambda} \right)$$

which precisely proves (2.10) by keeping in mind (2.8). We note that when $a = 1$, the limiting case $\lambda \rightarrow 0+$ of the Theorem 2.3 leads us to

$$\mathcal{L}\{\text{Si}(t)\} = \frac{1}{s} \tan^{-1} \left(\frac{1}{s} \right) \tag{2.15}$$

which is Problem 36, p.24 of [15].

We also mention here some interesting special cases of (2.13). With the help of (1.11) we can rewrite (2.13) as

$$\int_0^\infty (1 + \lambda t)^{\frac{-s}{\lambda}} \frac{\lambda \sin_\lambda(at)}{\log(1 + \lambda t)} dt = \tan^{-1} \left(\frac{a}{s - \lambda} \right) \tag{2.16}$$

If we take $a > 0$, and put $s = \lambda + a$ in (2.16) it yields

$$\int_0^\infty (1 + \lambda t)^{\frac{-(\lambda+a)}{\lambda}} \frac{\lambda \sin_\lambda(at)}{\log(1 + \lambda t)} dt = \frac{\pi}{4} \tag{2.17}$$

The limiting case of (2.17) as $\lambda \rightarrow 0+$ produces

$$\int_0^\infty e^{-at} \frac{\sin(at)}{t} dt = \frac{\pi}{4} \tag{2.18}$$

which is precisely true as a special case of the following result mentioned in 3.941(1) p.497 of [5]

$$\int_0^\infty e^{-px} \frac{\sin(qx)}{x} dx = \tan^{-1} \left(\frac{q}{p} \right), \quad p > 0 \tag{2.19}$$

when $p = q = a > 0$ in (2.19). We can at once see that if we put $s = \lambda + p$, (where $p > 0$) and $a = q$ in (2.16) and then proceed to limits of the resulting expression as $\lambda \rightarrow 0+$ we arrive at the general result of (2.19). The limiting case of (2.16) for $s = \lambda$ when $\lambda \rightarrow 0+$ produces

$$\int_0^\infty \frac{\sin(at)}{t} dt = \frac{\pi}{2} \text{sign}(a) \tag{2.20}$$

which is the result mentioned in 3.721(1), p.423 of [5] and $\text{sign}(a)$ is the well known signum function (sign of a real number x) defined by (see for instance, p. xlv in [5])

$$\text{sign}(x) = \begin{cases} +1 & x > 0 \\ 0 & x = 0 \\ -1 & x < 0 \end{cases} \tag{2.21}$$

Now we move on to define the *degenerate cosine integral* function as stated under:

Definition 2.4: The Degenerate Cosine Integral: The *degenerate cosine integral* function is defined by the following integral

$$\text{Ci}_\lambda(at) = \int_t^\infty \frac{\lambda \cos_\lambda(au)}{\log(1 + \lambda u)} du \tag{2.22}$$

for any $a \in \mathbb{C}$. At once we can infer from (2.22) that for $a = 1$ and in the limit as $\lambda \rightarrow 0+$ (2.22) reduces to the well known (usual) cosine integral function (see, for example, (9), Appendix C, p.255, [15]) defined by

$$Ci(t) = \int_t^\infty \frac{\cos u}{u} du \tag{2.23}$$

Next follows a theorem giving the degenerate Laplace transform of the degenerate cosine integral function:

Theorem 2.5: The Degenerate Laplace Transform of the Degenerate Cosine Integral:

$$\mathcal{L}_\lambda \left\{ (1 + \lambda t)^{-1} Ci_\lambda(at) \right\} = \frac{1}{2s} \log \left\{ \frac{(s - \lambda)^2 + a^2}{\lambda^2 + a^2} \right\} \tag{2.24}$$

Proof: Let $f(t) = Ci_\lambda(at) = \int_t^\infty \frac{\lambda \cos_\lambda(au)}{\log(1 + \lambda u)} du$, this leads to the conclusion that

$\lim_{t \rightarrow \infty} f(t) = 0$. Further, as $f(t) = -\int_\infty^t \frac{\lambda \cos_\lambda(au)}{\log(1 + \lambda u)} du$, from which we get on differentiation,

$$f'(t) = \frac{-\lambda \cos_\lambda(at)}{\log(1 + \lambda t)}$$

i.e.,

$$\log(1 + \lambda t) f'(t) = -\lambda \cos_\lambda(at) \tag{2.25}$$

Kim and Kim [30] have proved that (see (3.8) p.244 [30])

$$\mathcal{L}_\lambda \left\{ \cos_\lambda(at) \right\} = \frac{s - \lambda}{(s - \lambda)^2 + a^2} \tag{2.26}$$

and that (see Theorem 3.4, p.247 [30]) for $n \in \mathbb{N}$,

$$\mathcal{L}_\lambda \left\{ [\log(1 + \lambda t)]^n f(t) \right\} = (-1)^n \lambda^n \frac{d^n}{ds^n} \left\{ F_\lambda(s) \right\} \tag{2.27}$$

where, $\mathcal{L}_\lambda \left\{ f(t) \right\} = F_\lambda(s)$. Kim and Kim [30] have also established that (see (3.20), p.246 [30])

$$\mathcal{L}_\lambda \left\{ f'(t) \right\} = \mathcal{L}_\lambda \left\{ \frac{d}{dt} f(t) \right\} = -f(0) + s \mathcal{L}_\lambda \left\{ (1 + \lambda t)^{-1} f(t) \right\} \tag{2.28}$$

Now taking the degenerate Laplace transform of both sides of (2.25) we get

$$\mathcal{L}_\lambda \left\{ \log(1 + \lambda t) f'(t) \right\} = \mathcal{L}_\lambda \left\{ -\lambda \cos_\lambda(at) \right\} \tag{2.29}$$

which by the application of (2.27) on the left side (for $n = 1$) and the application of (2.26) along with the linearity property of the degenerate Laplace transform leads us to

$$(-1)\lambda \frac{d}{ds} \left[\mathcal{L}_\lambda \left\{ f'(t) \right\} \right] = \frac{-\lambda(s - \lambda)}{(s - \lambda)^2 + a^2} \tag{2.30}$$

The application of (2.28) on the left side of (2.30) gives

$$\frac{d}{ds} \left[-f(0) + s \mathcal{L}_\lambda \left\{ (1 + \lambda t)^{-1} f(t) \right\} \right] = \frac{(s - \lambda)}{(s - \lambda)^2 + a^2}$$

Or,

$$\frac{d}{ds} \left[s \mathcal{L}_\lambda \left\{ (1 + \lambda t)^{-1} f(t) \right\} \right] = \frac{(s - \lambda)}{(s - \lambda)^2 + a^2} \tag{2.31}$$

as $f(0) = \text{constant}$. Integration of both sides of (2.31) w.r.t. s yields

$$s\mathcal{L}_\lambda \left\{ (1+\lambda t)^{-1} f(t) \right\} = \frac{1}{2} \log \left\{ (s-\lambda)^2 + a^2 \right\} + C \quad (2.32)$$

in which C is the constant of integration.

We have proved in our previous study [32] (see Theorem 2.5, p. 67 of [32]) the final value theorem of the degenerate Laplace transform as

$$\lim_{t \rightarrow \infty} f(t) = \lim_{s \rightarrow 0} s\mathcal{L}_\lambda \left\{ (1+\lambda t)^{-1} f(t) \right\} \quad (2.33)$$

To evaluate the constant of integration C in (2.32), we take the limits of (2.32) as $s \rightarrow 0$ and noting that from (2.33)

$$\lim_{s \rightarrow 0} s\mathcal{L}_\lambda \left\{ (1+\lambda t)^{-1} f(t) \right\} = \lim_{t \rightarrow \infty} f(t) = 0, \quad \because \text{ here } \lim_{t \rightarrow \infty} f(t) = 0 \quad (2.34)$$

we are eventually led to

$$0 = \frac{1}{2} \log \left\{ \lambda^2 + a^2 \right\} + C \quad (2.35)$$

Substituting the value of C from (2.35) in (2.32) produces

$$\mathcal{L}_\lambda \left\{ (1+\lambda t)^{-1} f(t) \right\} = \mathcal{L}_\lambda \left\{ (1+\lambda t)^{-1} \text{Ci}_\lambda(at) \right\} = \frac{1}{2s} \log \left\{ \frac{(s-\lambda)^2 + a^2}{\lambda^2 + a^2} \right\} \quad (2.36)$$

which is precisely (2.24). We mention here that when we set $a=1$ in either (2.36) or (2.24) and take the limits of either of these expressions as $\lambda \rightarrow 0+$, we arrive at the following known result (see, Problem 37, p.25 [15])

$$\mathcal{L} \left\{ \text{Ci}(t) \right\} = \mathcal{L} \left\{ \int_t^\infty \frac{\cos u}{u} du \right\} = \frac{1}{2s} \log \left\{ s^2 + 1 \right\} \quad (2.37)$$

Before concluding the paper we would like to remark that we would present more results on the degenerate Laplace transforms of a function in our next communication of this series within the near future.

Acknowledgements

The author would like to express his most sincere gratitude and thanks to The Hon'ble Professor (Dr.) Edward G. Dunne, Executive Editor, Mathematical Reviews/MathSciNet, American Mathematical Society, U.S.A., All The Hon'ble Editorial Board Members and All The Hon'ble Staff Members of the Mathematical Reviews/MathSciNet, American Mathematical Society, U.S.A. and The Hon'ble American Mathematical Society, U.S.A. for providing him the reference number [30] and also for providing him the most coveted opportunity to write a Review (number MR 3658414) for this paper [30], without which this author would not have been able to write this series of papers.

References

- [1] Erdélyi A., Magnus W., Oberhettinger F., Tricomi F. G. (1953). Higher Transcendental Functions, Vols. I, II, III McGraw Hill Book Company, New York, Toronto and London.
- [2] Erdélyi A., Magnus W., Oberhettinger F., Tricomi F. G. (1954). Tables of Integral Transforms, Vols. I, II, McGraw Hill Book Company, New York, Toronto and London.
- [3] F. Oberhettinger and L. Badii. (1973). Tables of Laplace Transforms, Springer-Verlag, New York, Heidelberg.

- [4] Spiegel M.R. (1968). *Schaum's Handbook of Mathematical Formulas*, McGraw Hill , New York .
- [5] Gradshteyn I.S., Ryzhik I.M. (2007). *Tables of Integrals, Series and Products*, Seventh Edition, (Edited by Alan Jeffrey and Daniel Zwillinger), Academic Press, California, U.S.A.
- [6] Prudnikov A.P., Brychkov Yu.A. and Marichev O.I. (1992). *Integrals and Series, Vol. 4, Direct Laplace Transforms*, Gordon and Breach Science Publishers, New York, Paris, Melbourne, Tokyo.
- [7] Exton H. (1976). *Multiple Hypergeometric Functions and Applications*, Ellis Horwood Limited, Publishers, Chichester, U. K.
- [8] Mathai A. M., Saxena R. K. (1978). *The H-functions with Applications in Statistics and Other Disciplines*, Wiley Halsted, New York and Wiley Eastern, New Delhi.
- [9] Mathai A. M. (1993). *A Handbook of Generalized Special Functions for Statistical and Physical Sciences*, Oxford University Press, Oxford.
- [10] Slater L. J. (1960). *Confluent Hypergeometric Functions*, Cambridge University Press, Cambridge.
- [11] Slater L. J. (1966). *Generalized Hypergeometric Functions*, Cambridge University Press, Cambridge.
- [12] Srivastava H. M., Karlsson P. W. (1985). *Multiple Gaussian Hypergeometric Series*, Ellis Horwood Limited, Publishers, Chichester, U. K.
- [13] Carlitz L. (1956). A Degenerate Staudt–Clausen Theorem, *Util. Math. Arch. Math. (Basel)*, **7**, 28–33.
- [14] Carlitz L. (1979). Degenerate Stirling, Bernoulli and Eulerian Numbers, *Utilitas Math.* **15**, 51-88.
- [15] Spiegel M.R. (1965). *Laplace Transforms (Schaum's Outlines)*, McGraw Hill, New York.
- [16] Upadhyaya Lalit Mohan, Dhama H. S. (Mar. 2002). Appell's and Humbert's Functions of Matrix Arguments-I, # 1848, *IMA Preprint Series*, University of Minnesota, Minneapolis, U.S.A. (<http://www.ima.umn.edu/preprints/mar02/1848.pdf>) (<http://hdl.handle.net/11299/3764>)
- [17] Upadhyaya Lalit Mohan, Dhama H. S. (Apr. 2002). Appell's and Humbert's Functions of Matrix Arguments-II, # 1853, *IMA Preprint Series*, University of Minnesota, Minneapolis, U.S.A. (<http://www.ima.umn.edu/preprints/apr02/1853.pdf>) (<http://hdl.handle.net/11299/3770>)

- [18] Upadhyaya Lalit Mohan, Dhama H. S. (May 2002). Humbert's Functions of Matrix Arguments-I, #1856, *IMA Preprint Series*, University of Minnesota, Minneapolis, U. S. A., *Vijnana Parishad Anusandhan Patrika*, Vol. 46, No.4, Oct.2003, 329-335. Zbl 1193.33222. (<http://www.ima.umn.edu/preprints/may02/1856.pdf>) (<http://hdl.handle.net/11299/3773>)
- [19] Upadhyaya Lalit Mohan, Dhama H. S. (July 2002). Humbert's Functions of Matrix Arguments-II, # 1865, *IMA Preprint Series*, University of Minnesota, Minneapolis, U. S. A., *Vijnana Parishad Anusandhan Patrika*, Vol. 54, No.1, Jan.2011, 37- 44. (<http://www.ima.umn.edu/preprints/jul02/1865.pdf>) (<http://hdl.handle.net/11299/3790>)
- [20] Upadhyaya Lalit Mohan (Nov. 2003): Matrix Generalizations of Multiple Hypergeometric Functions By Using Mathai's Matrix Transform Techniques (Ph.D. Thesis, Kumaun University, Nainital, Uttarakhand, India) #1943, *IMA Preprint Series*, University of Minnesota, Minneapolis, U.S.A. (<https://www.ima.umn.edu/sites/default/files/1943.pdf>) (<http://www.ima.umn.edu/preprints/abstracts/1943ab.pdf>) (<http://www.ima.umn.edu/preprints/nov2003/1943.pdf>) (<http://hdl.handle.net/11299/3955>) (<https://zbmath.org/?q=an:1254.33008>) (<http://citeseerx.ist.psu.edu/viewdoc/summary?doi=10.1.1.192.2172\&rank=52>).
- [21] Mathai A.M. (1997). Jacobians of Matrix Transformations and Functions of Matrix Argument World Scientific Publishing Co. Pte. Ltd., Singapore.
- [22] Chung W. S., Kim T. and Kwon H. I. (2014). On the q -Analog of the Laplace Transform, *Russ. J. Math. Phys.*, **21** (2), 156–168.
- [23] Kim T. (2015). Degenerate Euler Zeta Function, *Russ. J. Math. Phys.*, **22** (4), 469–472.
- [24] Kim T. (2016). On Degenerate q -Bernoulli Polynomials, *Bull. Korean Math. Soc.*, **53** (4), 1149 – 1156.
- [25] Dolgy D. V., Kim T. and Seo J. J. (2016). On the Symmetric Identities of Modified Degenerate Bernoulli Polynomials, *Proc. Jangjeon Math. Soc.*, **19** (2), 301–308.
- [26] Kim T., Kim D. S. and Seo J. J. (2016). Fully Degenerate Poly–Bernoulli Numbers and Polynomials, *Open Math.*, **14**, 545–556.
- [27] Kim T., Kim D. S., Kwon H. I. and Seo J. J. (2016). Some Identities for Degenerate Frobenius– Euler Numbers Arising from Nonlinear Differential Equations, *Ital. J. Pure Appl. Math.*, **36**, 843– 850.
- [28] Kim D. S., Kim T., and Dolgy D. V. (2016). On Carlitz's Degenerate Euler Numbers and Polynomials, *J. Comput. Anal. Appl.*, **21** (4), 738–742.

- [29] Kim T., Dolgy D. V., Jang L. C. and Kwon H.-I. (2016). Some Identities of Degenerate q -Euler Polynomials under the Symmetry Group of Degree n , *J. Nonlinear Sci. Appl.*, 9 (6), 4707–4712.
- [30] Kim T., Kim D.S. (2017). Degenerate Laplace Transform and Degenerate Gamma Function, *Russ. J. Math. Phys.*, 24(2), 241-248. MR3658414.
- [31] Upadhyaya Lalit Mohan (2017-2018). On The Degenerate Laplace Transform – I, Communicated for possible publication to *Bulletin of Pure and Applied Sciences, Section E- Mathematics & Statistics*, Vol. 37, No. 1, (January – June) 2018.
- [32] Upadhyaya Lalit Mohan (2017). On The Degenerate Laplace Transform – II, *International Journal of Engineering & Scientific Research*, Vol. 5, Issue 12, December 2017, 63-71. (http://esrjournal.com/uploads/91/4403_pdf.pdf)